Whitman College

Econ 308

Final Exam

December 18, 2003

Write your answers in your blue book.  Show all of your work.  The exam ends at 4:30.

1.  (a)  (10pts)  Define the Consumer Price Index (CPI) and explain how it is calculated.

(b)  (10pts)  What are the criticisms of the CPI as a measure of the cost of living?

2.  Consider the following information about a hypothetical economy.  The labor force is 10,000 and the capital stock is 6,000.  The labor force grows at the rate 0.03.  Labor-augmenting technology grows at the rate 0.01. The depreciation rate is 0.05.  The equilibrium wage is 14, the equilibrium rental price of capital is 10, and the price level is 120.  Use the Solow Growth Model with labor-augmenting technology to answer the following questions.  Assume the economy has reached a steady-state.

(a)  (5pts)  At what rate does real aggregate output grow?

(b)  (5pts)  At what rate does per-capita real aggregate output grow?

(c)  (15pts)  Is this economy in the golden rule steady state?  If not, is at operating with more or less capital than the golden rule capital stock?  Explain how you can tell.

3.  Assume that a Cobb-Douglas production function describes the economy of a particular country.  Suppose that the annual growth rate of real aggregate Gross Domestic Product (GDP) in this country averages 3.6%.  On average this economy uses 3.0% more labor and 1.0% more capital each year.  The share of national income that goes to capital owners is 35%.  

(a)  (5pts)  What (if any) of the annual growth in real aggregate GDP is due to using more capital in production?  

(b) 5pts)  What (if any) of the annual growth in real aggregate GDP is due to using more labor in production?

(c)  (5pts) What (if any) of the annual growth in real aggregate GDP is due to technological progress, i.e. to using the inputs more intensively?  

4.  Consider the following information about Country A and Country B.  Assume that the Fisher equation holds, and that Purchasing Power Parity holds.

At the end of 2000: Country A had a Consumer Price Index (CPI) of 105, an annual nominal interest rate of 7.0%, and everyone predicted that Country A’s CPI would be 110 by the end of 2001.  

At the end of 2000: Country B had a Consumer Price Index of 200, an annual nominal interest rate of 9.0%, and everyone predicted that Country B’s CPI would be 215 by the end of 2001.  

At the end of 2000: Country A’s exchange  rate was 102.0, i.e. it took 102.0 units of B’s currency to buy one unit of A’s currency. 

(a) (5pts) What was the expected annual real interest rate in Country A for loans negotiated at the end of 2000?

(b) (5pts) What was the expected annual real interest rate in Country B for loans negotiated at the end of 2000?

The actual CPI in Country A at the end of 2001 was 112, and the actual CPI in Country B at the end of 2001 was 210.  

(c)  (5pts)  What was the actual annual real interest rate in Country A for loans negotiated at the end of 2000?

(d) (5pts)  What was the actual annual real interest rate in Country B for loans negotiated at the end of 2000?

(e) (10pts)  What was Country A’s exchange rate at the end of 2001?   (In other words, how many units of B’s currency did it take to buy a unit of A’s at the end of 2001?)

5.  Consider the Keynesian sticky wage Aggregate Demand-Aggregate Supply model. 

(a)  (5pts)  Does the classical dichotomy hold in this model?  Explain.  

(b)  (5pts)  Does the natural rate hypothesis hold in this model?  Explain.

(c)  (5pts)  Is this model consistent with the Classical Quantity Theory of money?  Explain

(d)  (10pts)  What sort of economic questions is this model well-suited for answering?  

6.  (a) (20pts)  The sacrifice ratio is the percentage of a year’s real aggregate output that must be foregone in order to reduce inflation by one percentage point.  Describe how to put Okun’s Law and the short run Phillips Curve together to calculate the sacrifice ratio.  Be sure to define Okun’s Law and the short run Phillips Curve in your answer.  

(b) (15pts)   On p. 367 of Macroeconomics, 5th Edition, Mankiw states that “a typical estimate [of the sacrifice ratio] is about 5: for every percentage point that inflation is to fall, 5 percent of one year’s [real] GDP must be sacrificed.”   However, the Federal Reserve under Alan Greenspan reduced inflation over the 1990’s without sacrificing any real output.  Describe how the Lucas Critique helps explain why the sacrifice ratio was zero for the United States economy over this period.  Be sure to define the Lucas Critique in your answer.

7.  (a)  (5pts)  What four conditions must a person meet in order to be officially considered unemployed?

(b)  (15pts)  According to the Real Business Cycle school of thought, what causes the unemployment rate to rise during recessions?  Thoroughly explain.

(c)  (10pts)  According to the Real Business Cycle school of thought, how should policy-makers deal with recessions?  Thoroughly explain.

8.  (a)  (5pts)  Define business fixed investment.  

(b)  15pts)  Consider the neoclassical model of business fixed investment.  Suppose the real interest rate is 0.02, the depreciation rate of capital is 0.05, the marginal product of capital is 0.15, the nominal interest rate is 0.06, the savings rate is 0.2, the inflation rate is 0.04, the price of capital is 200, and the price level is 100.  Would the capital stock grow under these conditions?  Explain.

